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I - mwn: competing versions of identity in pwymp
a  if man (or woman) alone claims PW 1p occurred
i then: the one making the claim is banned from consequential relatives; the other isn’t banned
b  if: man claims pv11p with women and her response is that he effected pwyTp with her daughter
i then: he is banned from kin of mother (but not daughter), she (and daughter) are not banned from his kin

¢ if: man claims pwv1p with daughter and mother claims PV11p were with her
i then: he may not marry king of daughter (but may marry kin of women); she may not marry his kin (daughter may)
d  justification:

i woman (1¢ clause): R"10 man doesn’t care, but woman will be careful and we should believe her vis-a-vis him — 5"np
it mother claims about daughter (2" clause): R"10 the credibitlity given to father by nmn is paralleled v to mother — and
daughter is banned from his kin - %"np
iii  mother claims about herself (3" clause): parallel construction
e assigning case of dispute between 5Rnw/a1 re: “forcing” (27) or “requesting” ("R1nW) a V1 in our case (?)
i can’t be: first case (man alone claims pw11p) — there’s no reason for a v3
ii  can’t be: second case (where she alone claims pw1T'p) - there’s no reason to force him (= ban him on her kin)
iii  rather: the statements are sequential — we request a v (2" case), if he gives it of his own initiative, we force a namn3
I R Ta porrp
a AT 17— no concern whatsoever
i question: what if they both admit to pwymp?
ii ~ Sxww: even if they both agree —no pvyrp
1 challenge: our mwn; if there are 0”1y, why aren’t both pwTpn; if no 01y — why either of them? (perhaps Tnx Tv?)
2 answer: he (or she) claims that there were 071y 191 PV11’p and they are gone
3 challenge: dispute n”2/w"a re: lodging together after va whether new v needed (isn’t it about 8"»?)
(a) answer: dispute is whether nx»a »::1in» »1p (only applies after pr1w?)
4 support: 21 (perhaps even »17) agree that 8”pa wTpn is nothing, even if they both admit to it
5  Challenge: if 2 men and a woman come to town with a package, each with a claim:
(a) Each man: claims the woman is his wife, the other man is his slave and the package is his property
(b) The woman: claims that they’re both her slaves and the package is hers
() Ruling: she needs 2 107 and collects the N2> from the package (x"y? Inapplicable)
(i) Rather: if she wants to collect namn3, she needs 2 v (follows n”1 — 12IN3Y *TAYNVN HVHVN)
iii ~ Final ruling: R1n3 "7 — no concern; Raa "1 — we must be concerned re: pvITp
1 Challenge (to #2179 27): if he builds on 127::927 to require 2, apply 7”va nkTn = no need for 2
(a) Answer: 7"va nr1T0 only works where others aren’t made liable
iv  Story: 2 wnon split father’s estate without n»7y; asked whether v 1 demands n»1y to make sure no one will deny — not
applicable in their case — or because an agreement isn’t binding without the presence of o’y
1 answer (WX 17) — D1 are required to prevent lying
v »ar: brings 3 cases where X" accusing someone is believed — if the accused is silent:
1 “you ate a5n”
2 “your nmnv became Xnv”
3  “you ox was involved in a crime that would get him killed”
(a) justification:
(i) (1) ~>(2): he wouldn’t want to bring n71y% 1510, but might not mind (2): he can eat nrkmv m23;
(ii) (2) ~>(3): he loses v during NNY '1?; but might not mind (3): not all oxen end up on nam
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III' question: what if X"y testifies that his wife was guilty of infidelity
a  7an: believed (and she’s prohibited) (supporting stories of student of 981w and 7510 *RY re: his mother)
b ®Ra1: not believed — M yaw 121 always requires 2 witnesses (responses)
¢ arguments:
i MR
1 story: student of YR1nW’s who was told by one man that his wife nnat -
(a) 9YRW: “if you believe him “like two” — divorce her”
(i) discussion: means R"y, unless we know him to be %108 and untrustworthy — is believed
1. »27 if you accept his word as being as true as two witnesses (>®"» doesn’t prohibit)
2 story: the massacre of o'non as Alexander Jannaeus’ reaction to being told not to wear p>x
(a) background: “they heard” his mother was taken captive (=n21n3% n%09); found it not to be so
(i) discussion: couldn’t mean that there were two contradicting sets of witnesses
1. reason: why would we rely on 2" set and rule her to be nmnv?
a. rather: must have been X"y who was contradicted by two (“found it not to be so”)
b. -if not contradicted, we’d believe r"y
2. 827 it was 2 v. 2 — but the contradicting 2 were nntn »1y (totally defeat first two)
a. alternatively: she was captured, but was replaced with a nnaw
i Raw
1 p:xmrnpn 8naomn - pool in M1 that they used as a mpn and then found it to be deficient:
(a) v"™ —ruled M1 everyone who used it until it was found to be deficient
(b) y™ —ruled xnv everyone who used it back to date it was found to be proper
(i) arguments:
1. v™: mpn had Mnv npmn — don’t change his status until known for sure
a. similar to: a 103 doing nTay who is found to be nw 12 — nTAY is W (vv. 2-4)
2. y™: person was RnY npma — don’t change his status until known for sure
a. similar to: 103 doing nmay who is found to be mn Yya — nmay is Y108 (v. 5 — read "nHv”)
b. argument (for comparing to mn Yva as opposed to 13"2):
i.  mpn and on-Yva are both determined by 1 witness, and are both intrinsic
ii. "1 requires 2 witnesses and the failure is extrinsic to the person
iii. (v praised y™’s argument)
iv. 11— we see that 3”2 requires two; case must be where the “accused” isn’t challenging,
else, in case of D1 Y»1, why would we believe 1?
v. »aR: case is where he denies the min — we believe the one, because he could always show
us that he has no o — which is why the 2" tine of the argument - 911 1509 is really an
extension of the 1%t tine (TNR 2"y)
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